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(1) 3x+2y=5 [x] (2) —5x+y=2 [v]

3) S=ah [a] 4) o =a—mr [r]
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(1) 3x+2y=5 [x] (2) —5x+y=2 [y]

3) S=ah [a] 4 o =a—mr [r]
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(1) c=a+b [a] (2) 3x—y=6 [v]
3) a+2b+c=0 [b] (4) a—b—8c=0 [c]
5) e=2a+b [a] 6) s=2mr [r]
(1) V=2mnr2h [h] B) ax+by=z [y]
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(1) c=a+b [a] (2) 3 x—y=6 [y]
3) a+2b+c=0 [b] 4) a—b—383c=0 [c]
5) ec=2a+b [a] 6) s=2mr [r]

(1) V=2mr2h [h] 8) ax+by=z [v]
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() m=—Z-(a+b) [al @ V=—g-mr?h [h]
a(r—1)

3 x=—7(a+2b) [b] (4 b=-2"Z11  [r]
I
(1) m=—72-(a+b) [a] 2 V=-"2-mrh [h]

(3)X=1—(a+2b) [b] 4) b:a(r—g” [r]
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(1 4x—y=-3 [v] (2) —2x+3y=5 [x]
(3) m=-2tbte [a]l @) %+¥%=a [y]
6 x=—2(2a-3b) [al ) y=-=2X+1  [x]
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(& ]
(1 4x—y=-3 [v] 2 —2x+3y=5 [x]
) m=-2atbte [a] ) X +L=a [y]
®) x=—2(2a-3b) [al 6 y=-25+1  [x]
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(1) S=A(2+3r) [A] (2 S=moe+mnr? [ o]
@) t=2(a+b+c) [b] (4 0.5a(b+c)=d [c]
a _ ¢ Bx+y) _
(5) 2-=-S (b1 (® LIyl g [x]

[ZZA)] B) EEZIE, 2&30BMAEHIFT2x3=6,
RLCEXSICLT, bltdDHRNMNAEHIEbXxd=Dbd
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(1) s=A(2+4+3r) [A] (2) S=no+mr? [o]
3) s=2(a+b+c) [b] (4 0.5a(b+c)=d [c]

(5) 2 =S (b1 0 aEvl 5 [y





